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QUESTION 1

When you created your development database on Exadata Cloud@Customer, you selected "None" for backup location
during provisioning. You now need to enable automatic backups on the development database with a retention period of
45 days. Which action should you perform? 

A. No action can be taken, because a new backup location cannot be set after creation. 

B. Change the database backup location to local storage backups and set retention to 45 days. 

C. Change the database backup locationto an NFS backup location with a 45-day retention period set. 

D. Change the database backup location to Object Storage with the default retention period set. 

Correct Answer: A 

 

QUESTION 2

You want to scale within Exadata System. Which of the following two statements are true? (Choose all correct answers) 

A. The setting of database parameter CPU_COUNT is affected bymodifying the number of enabled OCPU cores. 

B. Modifying the number of enabled OCPU cores does not require database downtime. 

C. Modifying the number of enabled OCPU cores requires database downtime. 

D. The setting of database parameter CPU_COUNT is not affected by modifying the number of enabled OCPU cores. 

Correct Answer: AB 

 

QUESTION 3

Which characteristic is NOT a factor that impacts the capacity units for provisioning a NoSQL Database Cloud Service
table? 

A. record size 

B. data model 

C. query pattern 

D. durability level 

Correct Answer: D 

 

QUESTION 4

What TWO reasons do you need a minimum of three storage cells when using Exadata Cloud Service? (Choose all
correct answers) 
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A. for high availability 

B. for Fast StartFailover of storage cells 

C. for Data Guard 

D. for Real Application Clusters 

E. for triple mirroring of data 

Correct Answer: AE 

 

QUESTION 5

Which statement is FALSE about using compartments? 

A. They allow you to isolate resources. 

B. They can be used to secure resources. 

C. They can be organized in a hierarchical fashion. 

D. They are a physical concept that separates users. 

Correct Answer: D 
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